#### **ACUCA Member Institution Profile:**

Institution Name	Hokusei Gakuen University			
Religious Affiliation	Protestant Christianity	Year of Founding	1962	
Street	Oyachinishi 2-3-1 Atsubetsu-ku	City	Sapporo	
State	Hokkaido	Postal Code	004-8631	
Country	JAPAN			
Telephone	+81-11-891-2731	Fax	+81-11-892-6097	
Email	soumu@hokusei.ac.jp	Website	http://www.hokusei.ac.jp	

Head of Institution	Ikuo Daibo	Position	President
Address	Oyachinishi 2-3-1 Atsubetsu-ku		
Telephone	+81-11-891-2731	Fax	+81-11-892-6097
Email	soumu@hokusei.ac.jp	Website	http://www.hokusei.ac .jp

### Areas of Strength

Humanities, Economics, Social Welfare, and a variety of studyabroad programs.

Do you have an OFFICE FOR INTERNATIONAL PROGRAMS OR INTERNATIONAL LINKAGES?				
①Name of Office	International Education Center			
Head	Misao Okada	Position	Director	
Address	Oyachinishi 2-3-1 Atsubetsu-ku			
Telephone	+81-11-895-1000	Fax	+81-11-891-9550	
Email	intlcenter@hokusei.ac.jp			
②Name of Office	Smith Mission Center for Religion			
Head	Yoshihiko Hidaka	Position	Chaplain	
Address	Oyachinishi 2-3-1 Atsubetsu-ku		_	
Telephone	+81-11-891-2731	Fax	+81-11-892-6097	
Email	soumu@hokusei.ac.jp			

#### **Student Population**

Undergraduate				
Local	Undergraduate 3,798 Junior College 432	Foreign		
Graduate				
Local	24	Foreign		
Programs				

# Attach a list of<br/>undergraduate<br/>programs Indicate<br/>those taught in<br/>English.Course list of International Exchange Courses spring 2021.<br/>Introduction to Japanese Literature [INT] (A)<br/>Japanese Subcultures [INT] (A)<br/>Introduction to Japanese Society [INT] (A)Introduction to Japanese Society [INT] (A)Language and Gender in Japanese Society [INT] (A)Introduction to Japanese Society [INT] (A)

Introduction to Japanese Finance and Economy [INT] (A)	
Management [INT] (A)	
Introduction to Japanese Culture [INT] (A)	
Economic Relations between Japan & Europe after World War II $[INT]$ (A)	
Comparative Culture [INT] (A)	
Communication [INT] (A)	
Language and Body in Japanese Conversation	
Special Lecture C(a) [INT] Japan Now: A Canadian Perspective	
Courses set up in the second half of 2021	
Introduction to Japanese Literature [INT] (B)	
Japanese Subcultures [INT] (B)	
History of Japan [INT] (B)	
Introduction to Japanese Society [INT] (B)	
Language and Gender in Japanese Society [INT] (B)	
Introduction to Japanese Finance and Economy [INT] (B)	
Management [INT] (B)	
Introduction to Japanese Culture [INT] (B)	
International Economics [INT] (B)	
Economic Relations between Japan & Europe after World War II (INT) (B)	
Comparative Culture [INT] (B)	
Journalism & Mass Media in Japan [INT] (B)	
Communication [INT] (B)	
Environmental Economics [INT] (B)	
Language and Body in Japanese Conversation	
Special Lecture C(a) [INT] Japan Now: A Canadian Perspective	
Special Lecture E [INT] Indonesian Culture and Society	
Special Lecture F [INT] Introduction to Intercultural Communication	

	Special Lecture G(A), (B) [INT] Intercultural Language learning Internship [INT] (B)	
Attach a list of graduate programs. Indicate those taught in English.	Studies in Communication Theory Seminar in Communication Theory	
	Pragmatics	
	Special Studies in Theory of Communications	
	Directed Study	
	Thesis Guidance	
	Research Project	

### Faculties / Schools / Colleges (e.g. School of Sciences)

# School of Humanities, School of Economics, School of Social Welfare

#### **Research Institutes**

N/A

Publications

Hokusei Review, Faculty of Literature Hokusei Review, Faculty of Economics Hokusei Review, Faculty of Social Welfare

## **Mission and Vision Statements**

Mission Statement:

Hokusei Gakuen University Mission Statement (Goals of the University)

Hokusei Gakuen University has followed in the footsteps of its founder Sarah C. Smith to provide education based on love, knowledge and expertise up until the present, more than a century after its foundation. To

continue the adherence to these principles by everyone involved based on the partnership between faculty and students, the university declares the following as its mission statement

- 1. We at Hokusei Gakuen University strive to search freely for the truth and gain freedom through the truth in accordance with justice and good conscience.
- 2. We remain focused on regional, social and global circumstances amidst the changing times, recognize the significance of the existence of Hokusei Gakuen University, and contemplate and fulfill the roles expected of the university under these circumstances.
- 3. We contemplate and fulfill the roles expected of Hokusei Gakuen University in bringing peace and dignity to the world despite tragic events due to current social conditions.
- 4. We strive to increase knowledge and expertise through education, learning and research at Hokusei Gakuen University, and we are committed to using this knowledge and expertise to contribute to society.
- 5. With this firm resolve, we gather here based on this agreement to strive to make Hokusei Gakuen University a place of free exchang-es and activities with loving devotion and an inquiring spirit.

"Ask and it will be given to you." (The Bible, Matthew 7:7) Vision Statement:				
Contact person for ACUCA	General Affairs Office	Telephone	+81-11-891-2731	
Fax	+81-11-892-6097	Email	soumu@hokusei.ac.jp	

# Submitted By

Name	Chihiro Cho (General Affairs Office)	Position	Date Submitted:	2021/11/04	